TECHNICAL CHARACTERISTICS = SIZES 160-355

Motive three phase motors from size 160 up to size 355 are made in cast-
iron and have all those main features of the Delphi series, among which:

* standardized dimensions according to International standards (IEC 72-1)
* multiple voltage and multifrequency 50,/60Hz,

¢ F class insulation, [oupon request H or H+ (delfire]]

* 51 continuous duty service,

* |IP55 protection (IP56, 66 and 67 on request)

* tropicalized winding and reinforced insulation

* suitable for inverter power supply* [from 110kW and up we
recommend to order the motor with insulated barings (option]]

equipped by lifting
eyebolts [one for B3
version (feet fixing), two
for B5 version (flange
fixing)]

provided with 3 PTC
thermistors that protect
the motor and the system
by operation anomalies

IE2, high efficiency class IEC 850034-30-1
IE3, premium efficiency class I[EC 60034-30-1

Keeping the same sealing
system of the whale
delphi series, the terminal
box up to size 280 is
made in aluminum,

thus guaranteeing its
IPB5 protection index
without being affected

by the usual finishing The terminal
imperfections of the cast box can be
iron rotated of
360° with

steps of 90°

From size 160 up to 280, we
mount ZZ auto-lubricated bearings,
thus avoiding the need of a
periodical re-greasing maintenance

Given the high torque,
the fixing from size 180
up is ensured by feet
integrally casted with
the housing

Instead, from size 315 and

up, they are provided with

lubricators. 4, 6 and 8 poles

motors drive end bearings are

in fact of open roller type, in Upon request, motive
order to withstand eventual can anyway mount the
extraordinary radial loads (see terminal box laterally, on
paragraph "components list") the right or the left

Note: during the years 2016
and 2017, the motors size
180-280 might still be ¢
equipped by lubricators and
open bearings, because of
the time needed to update
them

NOTE: during the years 2016
and 2017, the motors size 160
might still be equipped with
detachable feet, because of the
time needed to update them



CONSTRUCTION FORMS AND SIZE TABLES

MOTOR CONFIGURATIONS AND INSTALLATION POSITIONS (IEC 34-7)

MOTORS WITH

FEET B3

FLANGE-MOUNTED
MOTORS B5

FLANGE-MOUNTED
MOTORS B14

IM1071 (IM B8)

IM1031 (IM V6]

B3/B5

IM2001 (IM B35)

B3/B14

=

e B

IM2101 (IM B34)

IM2011 (IM V15)

IM2031 (IM V38)




Py ="

- === N ==

no ATDC/ATTD ATDC/ATTD

IE2 B5R / B14B

TYPE POLES AD | AD H | KK | L D| DH E @ F/G/A ABl B |C K M|N|P IR S M| N P R S T M N PR S |T
56 | 28 102 - | 56  M1B | 198 9| Max12 | 20| 3 | 3 |72 9 (111, 71 | 36 58 100 80 1200 7x4 | 3 | 65 50 80 O M5 25| - | - | - |- - | -
63 | 28 | 107 | 116| 63 | M2o | 215 11 M4x12 |23 3 | 4 85 100123 80 |40 7 115 95 140 0/10x4 3 | 75 60 |90 |0 M5 25100 80 120 0| M6 |25
71 | 28 119 | 124| 71 | Meo | 244 14| MBX12 |30 | 3 | 5 110/ 112|138 90 | 45| 7 130 110 160 0 |10x4 35 85 | 70 105 0 M6 25 115 95 140 0| M8 |30
80 | 28 | 130 | 139 | 80 | Me0 | 283 19| MBX16 | 40 3 | 6 155 125|157 100 | 50 |10 165 130 200 0 12x4 35 100 80 120/ 0 M6 |3.0/130110 160 0| M8 |35
90S | 28 | 145 146 90 | MeO | 310 04| M8X19 | 50 | 5 | 8 200 140 173 100 | 56 |10 165|130 2000 12x4/35 115 95 140 0| M8 30130110 160 0 M8 35
90L | 28 | 145 | 146 | 90 | M20 | 338 04| M8X19 | 50 | 5 | 8 200 140 173 125 | 56 |10 165|130 2000 12x4|35 115 95 140 0| M8 |30 /130110 160 0| M8 35
100 | 28 157 161 100 M20 | 373 08 |M10X22| 60 | 5 | 8 240 160 198 140 | B3 |12 215|180 250 0 15x4 4 |130 110 160 O M8 3,5 165130 200 O M10 35
112M| 28 | 177|177 | 112 | M25 | 390 08 |M10X22| 60 | 5 | 8 240 190227 140 | 70 |12 215|180 250 |0 15x4 4 |130 110 160 0| M8 |35 165130 200 0 M10 3,5
1325 | 28 | 197|195 132 M32 | 460 38 M12x28 | 80 | 5 | 10 |330 216 262 140 | 89 |12 265 230 300 0 15x4| 4 165|130 200 0 M10 3,5 215180 250| 0 |M10 4.0
132M| 28 | 197|195 | 132 | M32 | 495 38 M12x28| 80 | 5 | 10 |330 216 | 262| 178 | 89 |12 265 230 300 O 15x4 4 165|130 200 0 M10 3,5 215180 250| 0 |M10 4,0
160M| 28 | 255 | 255 | 160 | 2xM40 | 615 42 'M16x38 110 5 | 12 |370 254 320 210 |108 15300 250 350 0 19x4 5 215 180 250 0 M12 40
160L | 28 | 252 | 252 | 160 | 2xM40 | 710 42 |M16X38 110 5 | 12 |370 254 320 254 |108 15300 250 350 0 |19x4 5 215|180 250| 0 M12 40
180M| 28 | 270 | 270 | 180 | 2xM40 | 730 48 M16X36 110 8 | 14 425 279 355 241 |121 15 300 250 350 0 19¢4 5
180L | 28 | 270 | 270 | 180 | 2xM40 | 780 48 M16X3B 110 8 | 14 425|279 355 279 |121 15 300 250 350 0 19x4 5
o00L | 28 | 303 303 | 200 | 2xM50 | 771 55| M20X42 | 110 12 | 16 490 318 395 305 133 19 350|300 400 0 19x4 5
0055 | 28 | 312 | 312 | 225 | 2xMs0 | 815 B0 | M20X42| 140 12 | 18 530 356 | 435 286 | 149 19 400|350 4500 19x8| 5
005M| 2 | 312 | 312 | 225 | 2xMB0 | 820 55| M20X42 | 110 12 | 16 490 356 435 311 149 19 400|350 450 0 19x8| 5
005M| 48 | 312 | 312 | 225 | 2xM50 | 850 B0 | M20X42| 140 12 | 18 530 356 | 435 311 | 149 19 400|350 450 0 19x8| 5
D50M| 2 | 355 355 | 250 | 2xMB3 | 910 B0 | M20X42| 140 12 | 18 530 408 | 490 349 | 168 24 500|450 550 0 19x8| 5
D50M| 4.8 | 355 | 355 | 250 | 2xMB3 | 910 65 M20X42 | 140 12 | 18 580 408 490 349 | 16824 500|450 5500 19x8| 5
0805 | 2 | 398 398 280 2xMB3 | 985 65| M20X42| 140 12 | 18 580 457 550 368 | 190 24 500|450 5500 19x8| 5
0805 | 48 398 | 398 | 280 | 2xMB3 | 985 75| M20x42 | 140 12 | 20 (67,5 457 | 550 368 | 190 24 500|450 550 | 0 19x8| 5
080M| 2 | 398 398 | 280 | 2xMB3 1035 B5 | M20X42| 140 12 | 18 580 457 550 419 | 190 24 500|450 550 0 19x8| 5
0BOM| 48 | 398 | 398 | 280 | 2xMB3 1035 75| M20x42 | 140 12 | 20 (67,5 457 | 550 419 | 190 24 500|450 550 | 0 19x8| 5
3158 | 2 | 530 - | 315 2xMB3 | 1160 B5 | M20X42| 140 15 | 18 580 508 | 630 408 |216| 28 600|550 660 0 24x8 6
3155 | 48 | 530 | - | 315 2xVB3 |1270 80 | M20x42|170| 15 | 22 710 508|630 408 216 28 600 550 660 |0 |24x8| 6
315M| 2 | 530 - 315 2xMB3 | 1190 B5 | M20X42 | 140 15 | 18 580 508 | 630 457 |216 28 600|550 660 0 24x8 6
315M| 48 | 530 - | 315 2xMB3 1300 80  M20X42 170 15 | 22 |710/ 508 | 630 457 |216 28 600 550 660 0 24x8| B
315L 2 530 - 315 2xM63 1320 65 | M20X42 | 140 15 | 18 580 508 | 630 508 |216 28 600|550 660 0 24x8 6
315L | 48 | 530 | - | 315 2xM63 |1350 80 M20x42 170 15 | 22 |71.0/ 508 630 508 |216 28 600 550 660 O 24x8| B
355M| 2 | 855 - | 355 2xMB3 1500 75 | M20x42 140 15 | 20 67,5 610 | 730 | 560,/630| 254 28 | 740 680 800 | O 24x8| B
355M | 48 | 655 | - | 355 | 2xMB3 | 1530 95 | M20x42 | 170 15 | 25 86,0 610 | 730 | 560,630 254 | 28 | 740|680 800 | O 24x8| 6
355L 2 855 - | 355 2xMB3 1500 75 M20x42 140 15 | 20 67,5 810 | 730 | 560,/630| 254 28 | 740 680 800 | O 24x8| B
355L | 48 | 655| - | 355 2xMB3 |1530 95 | M20x42 | 170, 15 | 25 86,0 610 | 730 | 560,630 254 | 28 | 740|680 800 | 0 24x8| 6

For the dimensional data of delfire series, ask to our commercial office.

(22



£2 | 14 ATea areasgy ATTD  ATTD:SV
TYPE POLES L L L L L L
56 @ 28 - - - - - -
63 | 28 | 301 : 278 401 321 438
71 | 28| 341 - 300 442 365 497
BO | 28388 - 340 509 417 560
90S | 28 | 420 | 440 | 385 566 485 577
90L | 28 | 445 | 465 | 410 591 430 802
100 | 28 | 483 | 503 | 450 B21 488 B47
112M | 28 | 525 | 545 | 475 668 563 693
1325 | 28 | 590 @ 510 | 557 785 840 795
132M | 28 | 625 | 645 | 590 803 877 832
160M | 28 | 765 | /65 | 720 | 1009 | 820 929
160L | 28 | 880 | 860 | 771 1104 | 882 1033
180M | 28 | 860 | 860 | 847 990 995 1140
180L | 28 | 910 | 910 | 896 | 1038 | 1044 1188
200L 28 | 973 | 973 | BSO | 1013 | 1050 1178
2255 | 28 | 955 | 955 | 935 | 10080 | 1115 1125
225M | 2 | 955 | 955 | 935 | 1080 | 1115 1125
225M | 48 | 985 | 985 | 985 | 1120 | 1145 1255
250M | 2 | 1045|1045 1075 | 1211 | 1285 1466
250M | 48 | 1045|1045 | 1075 | 1211 | 1285 1466
280S | 2 1105 1105 1175 1274 | 1355 1444
280S | 48 [ 1105 | 1105| 1175 | 1274 | 1355 1444
280M | 2 |1160| 717160 1230 | 1329 | 1410 1499
280M | 48 | 1180|1160 | 1230 | 1329 | 1410 1499 B14, B5R/B14B
3155 | 2 | 1400|1400
3155 | 48 | 1430/ 1430
315M | 2 | 1500 | 1500
315M | 48 | 1530/ 1530
315L | 2 | 1500 | 1500
315L | 48 | 1530 1530
355M | 2 | 1740 1740
355M | 48 | 1770|1770
355L | 2 | 1740 1740
355L | 48 [1770 1770

you can download 2D and 3D
drawings from www.mative.it




